
ABSTRACT

For successful actualization educational management all school
components, want support system form the principal, the teachers, and
school administrations. The existence of Shool Administrations viewed

have contributions in support successful educational management. This
research focussing to discovery "How many contributions School
Administrations in support educational management successful at SLTPN
in area Bandung Timur?"

The method used in this research are the descriptive analitic with
quantative approach and suplement study with interview and
documentation study. The headmaster and School Administrations of
SLTPN ini area Bandung Timur are the subject of this research. Data
analysis with Product Moment Angka Kasar formulation.

Data analysis result identifyng from all subvariables, are
performance quality of School Administrations have contributions 84,6%
with (r^ = 0,92) for education management at SLTPN in area Bandung
Timur. With conclusion elaboration for each subvariable are:

1. Contributions of School Administrations as students manager in
support education management successful are 94% with (rxy =
0,97).

2. Contributions of School Administrations as fungsional
administration manager or the headmaster in support education
management successful are 88% with (rxy = 0,94).

3. Contributions of School Administrations as school budgetting
manager in support education management successful are 81%
with (rxy= 0,90).

4. Contributions of School Administrations as personalia manager in
support education management successful are 82% with (rxy =
0,91).

5. Contributions of School Administrations as school fasilitation
manager in support education management successful are 88%
with (r^ = 0,94).

6. Contributions of School Administrations as learning resources or
school library manager in support education management
successful are 88% with (rxy = 0,94).

7. Contributions of School Administrations as human relation manager
both school with society in support education management
successful are 81% with (rxy = 0,90).

 




